Libec LX-ePed 2 Studio

System LX—ePed 2 column ( Electric Pedestal ) + AP-X (Adapter plate) + DL-3RB ( Dolly )
Payload 10kg/ 22 1b Head attachment | 100 mm bowl
Weight 14.9 kg / 32.8 Ib (excluding controller, AC adapter) | Tripod section | 2-Stage
LX-ePed column : 10.3 kg / 22.7 b, DL-3RB : 39 kg / 8.6 Ib | Camera attachment| 1/4” and 3/8” screws
Height D H: 2640 mm / 103.9” ( %Reference ) | Accessory port | 1/4” and 3/8” screw holes x 2
@ H:1095 mm / 43.1” (nm) Temperature range [ -10°C ~ 40°C / -40°F ~ 104°F , Below RH 90%
Folded length | B L: ¢241 mm X 1035 mm / ¢9.4" x 40.7” | Controller cable [ LAN Cable : 30 m / 98.4’
Width W1 :782 mm / 30.8” , W2 :918 mm / 36.1” Power cable | AC / DC Adapter:3m /9.8’
Elevation 400 mm Power AC100V ~ 240V
Rasing / Lowering speed| Approx. 14 ~ 40 secs. / movement Battery—powered ( optional )
Continuous operating time| 3 minutes Power consumption| 24W ( DC 12V 2A)
Remarks

M Exterior Dimensions (mm)

| WAP-X (Adapter plate) o |

| (30) 112 (30), |
! 14 68 !
SR ElE h
[ 3 4 I
\ \
| /4 I
Video pin Head
Camera screw 1/4”

| Mounting

Level Platform

Plate release button Accessory Port
1/4” and 3/8”

screw holes x 2

201 ¥
/\/—>

]
=
Y
284

Upper
Screw hole 3/8 5 Lock Knob
| |
| _©| | &
. > 1
A=k
| ., S Z
| Screw hole 1/4 28 T
56 Eye Bolt‘ 0
_ — _ o
lControIIer Lower Column T
Elevation
! Control Rocker ! 2
‘ o | | ! =
LED e >
=Y o 2
N
: Preset Button 'é T : Lower Lock Knob

‘ LAN Port if

@ @ ®

Manufacturer : HEIWA SEIKI KOGYO CO., LTD. 2502
9781, Nishibukuro, Yashio-City, Saitama, 340-0833 Japan TEL . +81-48-995-1301 FAX .+81-48-997-0804 http://www libec-global.com DWG.NO.:50-50019-E




